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EF309/EL309 RO NO. 2 cevvveeeeearreeenns
Spl. 2020
COMPUTER COMMUNICATION
fuffe e . fm R [Aftrehaw 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

AT () YYRIH I 8 95 T3 e IR & I AT/
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) X% F97 F @l 97T 1 FHIR TF T 5T Hford |
Solve all parts of a question consecutively together.
(iii) NAF J97 H 79 G5 @ G FHHord |
Start each question on fresh page.
(iv) G ST9I37 § 3= 817 #1 17 7 31 g & 7o 8 |

Only English version is valid in case of difference in both the languages.

1. (1) < 3l Jdieist & d9ie 5 TIATATSH hET STdl 2 |

(a) =8 (b) VR
(c) Hhita (d) 39 F g HiS T
Combination of more than two topologies is called as topologies.
(a) Bus . (b) Star
(c) Hybrid (d) None of the above

) gt wifean i sifteman e fa @ 2 |
(a) HATeHed B3 (b) HI-TfFIIA HaA
(c) feawts vt (d) Tt &t FEE

transmission media has the highest transmission speed.

(a) Optical fiber (b) Co-axial cable
(c) Twisted pair cable (d) Same for all

(1 0f12) P.T.O.
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(3) FHHHIA ITUE H wedtue fdfted =t HE T |
(a) ®WH (b) grEER
(c) HiggAA (d) SHI®dF HiETE
Multiple repeaters in a communication satellite are known as
(a) station (b) transponder
(c) modulator (d) None of the above
(4) IATLHEA BRI Fact § ThIS Hohd § H=0T S SR 21 Treit Gha 61 91fp & Ht w1
HEA R |
(a) Wi (b) FE=H
(c) WA @) WS T
The signal power loss as light travels down the fiber is called
(a) Scattering (b) Interruption
(c) Attenuation (d) All of the above

(&)

(6)

fefrea firme =6t e former # ofafda @ 2 e fe e &
YR AR SATZHT T ST 1 F |
@) fe= (b) T
(c) wreH (d) =

converts digital signal into analog signal so that the signal can be

sent over conventional telephone lines.

(a) Switch (b) Router
(¢c) Modem (d) Hub

 H HE 3 fois dm g A8 e s 2
(a) Ffe (b) e A
(c) it d) T HifE

The data link layer does not do the task of
(a) Error control (b) Flow control
(c) Framming (d) Channel coding
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(7)

®)

©)

Hiferet ger e TEY B YETiE gia ¢ |
(a) R fafifthehe fae

(b) i fardfifeehe fae

(c) fordt oft ohm =1 faie

(d) wft forgm @y

In serial data transmission the bit that transmits first is
(a) Most significant bit

(b) Least significant bit

(¢) Any bit

(d)  All bits simultaneously

g1 e o 9% &t q ofar 8 3R grafiee & ol % # e
H@I? |

(a) Trforeper ot (b) FeasH =

(c) UAleheH T (d) ZFEUR SR
Data link layer takes the packets from and encapsulates them into
frames for transmission.

(a) Physical layer (b) Network layer
(¢c) Application layer (d) Transport layer
ifean vada srer ot 6 g 8 e e & |
@ S (b) 7

© 9 (d 11

Media access control frame has fields

(@ 5 (b) 7

) 9 @ 11

P.T.O.
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(10) v @) fearss Uiz Aeash #1 b geb Wit b & THT | ST HATNG H B

(an

(12)

(13)

I i 2 a1 39 fafa =  FEIIER |
(a) I (b) i
(c) I9UHHl (d) QI HE HIS T

When two devices on ethernet network considering the network as traffic free try

to transmit the data at the same time, the situation is said to be

(a) collision (b) overlap

(¢) Both of above (d) None of above
A ugy it g AR

(a) 16 faz (b) 32facE

(c) 48 facm (d) 64 fozm

The size of MAC Addressisof

(a) 16 bits (b) 32 bits

(c) 48 bits (d) 64 bits

IR oA & fo [EEE 802.11 AH& gRI eI THHE dehTeh
I TR ST 2

(a) CDMA (b) CDMA/CA

(c) CDMA/CD (d) I9UH | & hig T8I

technique is used by IEEE 802.11 standard for wireless transmission

with multiple access.

(a) CDMA (b) CDMA/CA

(c) CDMA/CD (d) None of the above
= 1 g 2o o Widiwia 2 7

(a) IR (b) UERIUET

(c) wSTad (d) Iww aft

Which of the given below is data link protocol ?
(a) Ethernet (b) Point to point
(c) HDLC (d) Above all
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(15)

(14) =t 3t <1 aeqd 2l
(a) TAfdes feaddt I« (b) =Efdzds
() 3T Al (d) i dEwE T
CRC stands for
(a) Cyclic Redundancy Check (b) Code Repeat Check
(c) Both of above (d) None of above
1 I9AM T T & TIR 99 f6 PC 3 input/output TEarsa & = fean
STl R |
() UsHam (b) HTEHEE T
(c) Z%BIE @ (d) IHIE A F HIE Tl

(16)

(17)

is used for short range communication such as between PC and

input/output devices.

(@) Radio waves : (b) Microwaves
(¢) Infrared waves (d) None of the above
el § T ST i o1 ar 3 T Sradl wefden e g 2 |
(a) el U (b) IS AfHa
(c) I-TfRmas (d) Ut g+t
cable has an internal copper wire and outer conducting sheath.
(a) Twisted pair (b) Fiber optical
(¢) Co-axial (d) All of the above
TE AT & 911 foh U STETha B ThET # HPet §9R YgH ST § |
(@ (b) H
) (d) SHIEHA BTG
is a technique that provides computer communication in a relatively
small area.
(a) LAN (b) WAN
(c) MAN (d) None of the above

P.T.O.
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(18) THig oo Jeas  AEH HIICE R |

(a) @ik fEm (b) e s

(c) I Al (d) I S A A HIE TE

Local telephone network is an example of

(a) Circuit switch (b) Packet switch

(c) Both of the above (d) None of the above
(19) X.25 9eas T BT 2 |

(a) T (b) diE T

(c) I9RH QM &l (d) 3T QAT A A HIS T

X.25 network uses

(a) Three layers (b) Five layers

(c) Both of the above (d) None of the above
(20) TSt TA Hi HI U ETR |

(2) T gwiaw fefves fois Hgfeem

(b) TR 9 vial |fehe

(c) TT% e T3 FfAhy
(d) & dad e o e

HDLC is an acronym for

(a) Half-duplex Digital Link Communication

(b) Host Double Level Circuit

(¢) Half-Duplex Line Communication

(d) High-level Data Link Control
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(21) Ffe =1 9a1 AT 3 GUR F 39T Bl FEACR |
(a) WA HA (b) THgE
(c) rafE Hgiel (d) S &t

refers to methods of error detection and correction.

(a) Flow control (b)  Error control
(¢) Transmission control (d)  All of the above

(22) PLP &gt H &ia 2121 32 | 2t ) Arsa A 2R |
(@ 3 (b) 4
() 5 d 7
The size of header for a long data packet at the PLP level is bytes.
(@ 3 (b) 4
() 5 d 7

(23) X.25 92T+ Tietehiel o1 39am 321 foieh st H i 2 |
(a) LAPB (b) X.21
(c) RJI232C (d) PLP
X.25 network uses the protocol at the data link layer.
(a) LAPB (b) X.21
(c) RI232C (d) PLP

(24) eice Shme AeyE § s s bt ugw AR HEATR |
(@) 4 (b) 3
() 5 d 7
An IP address is of bytes in dotted decimal notation.
(a) 4 (b) 3
(¢) 5 @ 7

P.T.O.
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(25) THUSIA . S HATR |
(a) Heah (b) Tefawa
(c) Wi gHI (d) @i H A I TE
A router works at layer.
(a) Network (b) Physical
(¢) Both of above (d) None of above
(26) THEE IR HE HaT 2 |
(@) 3 feib (b) T
(c) Tfoea (d) ucihIA
A HUB works at layer.
(a) Data link (b) Session
(c) Physical (d) Application
27) fr= A 9 b e fafm ¢ adi R 7
(a) wfde feafem (b) epe feafam
(c) #&w feafam (@) =R fEfEm
Which technique is not a switching technique from the given below ?
(a) Circuit switching (b) Packet switching
(c) Message switching (d) Internet switching
(28) IR H FH R |
(a) FEHY (b) wrE et
() gHi (a) 7T (b) (d) o
is not a category of IP address.
(a) Class A (b) ClassB
(c) Both (a)and (b) (d) Class one

"1034
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(29) 190.255.0.0 318 i vgH wag |
(a) FTET (b) FATE S
(c) o Hl (d) o€
190.255.0.0 IP address is address
(a) Class A (b) Class B
(c) ClassC (d) ClassD
(30) Hifsan vwE i I H T FEeil g |
(a) TwAhEA (b) SRR
(c) HwH d) o fos
Media Access control is a sublayer of layer.
(a) Application (b) Presentation
(c) Session (d) Data link (1x30)

2. (i)

(ii)

(iii)

@iv)

v)

FPRT HIR H I B 9Tt 1S G eSS HifeAn % M Fansy |

Name any two guided media that are used in computer communication.

T 3R fefiee erer Sawn # e % gay # F fEar? ¢

What is the difference in transmission between analog and digital data

transmission ?

0T, (MAN) 791 s, 0.0, (WAN) @1 gl &9 fofiad |
Write full form of MAN and WAN.

$1E A Jeas Attt % T fafad |

Name any two networks topologies.
T HE & HATH F AT 2 7
What do you mean by error control ? (2x5)

P.T.O.
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3.

@)

(ii)

(1)

(i)

®

(i)

(@)

(i)

)

(i)

ALOHA a7 Slotted ALOHA Tah-1eh %1 GHETE |

Explain ALOHA and slotted ALOHA techniques.
wfdhe feafm qun dfene feafam awsmsd |

Explain circuit switching and packet switching. (5x2)

3. UH. 3. - 30 uH. 37iE. wehfa wiea 6 a1 fois ofe & an o foan & gmamsd |
Explain in detail about Data link layer of [ISO-OSI reference model.
3.8 4. % 9 H wngEd |

Explain about ISDN. (5x2)

W G I0T dehienl 3 R H G |
Explain about frame retransmission techniques.

T FHP Headh | Thet 3N s &t swrfyoreft 't gmgmsu |

Explain the working of a router and a switch in a computer network. (5x2)
X.25 WIeIict Heash % @R § gHTEd |

Explain about X.25 protocol network.

Tergfen faet sietehier 91 8tar 2 7 wwamsd |

What is sliding window protocol ? Explain. (5x2)

wa.gue. H. % 91§ qused |
Explain about HDLC.
FPY e § HFer v 1 g @ 7 ofiehl a%he Al 1 wugE |

What is congestion control in computer networks ? Explain leaky bucket

technique. (5%x2)
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8.

(i) weH @1 gran & 7 ferean & wweEd |
What is MODEM ? Explain in detail.
i) .. /o . wiee i fowr & guss |

Explain TCP/IP model in detail.

fferfia 8 & ferdi @ v st feoaforal forfd :
Write short notes on any two of the following :
(i) 1@ YR (THfeT H)

Flooding concept (in Routing)
(i) Thr fre=di 9=

Cyclic redundancy check
(iii) Aeash MerHicd

Network protocols

1034

(5%2)

(5%x2)
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